K 8 Wérksheets

Ratio

Fill the blanks.

WS #2

At a birthday party, 12 children opted for hot dogs, while 18 chose burgers.

The ratio of children who opted for burgers to those who preferred hot dogs is

The ratio of the number of children who chose burgers to the total number of children is

The ratio of the number of children who chose hot dogs to the total number of children is

There are 25 orange fish and 20 yellow fish in the fish tank.

The ratio of yellow fish to orange fish is

The ratio of yellow fish to the total number of fish in the tank is

The ratio of orange fish to the total number of fish in the tank is

There are 28 shirts and 24 pants in the closet.

The ratio of shirts to pants is

The ratio of pants to the total items in the closet is

The ratio of shirts to the total items in the closet is
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